
flW~iSFl1 E” (volts)  E”’ (volts)  l~EdUiiln~U  E”’

F,+2H++2e  == 2HF

F,+2e == 2P

S,0,2+2e  == 2SOd2.
3+

co +e == co*+

H,0,+2Hf+2e  == 2H,O

Mn0;+4Ht+3e  == MnOz+2H,0

ce4++e  == Ce
3+

2HC10+2H1+2e  == CJ+2H,O

NaBi0,+6H++2e  == Na’+B?+3H20

H,IO,+H++2e == 10;+3H,O

2B1-0;+12H++lOe  == Br,+6H,O

Mn0,+8H++5e  == Mn*++4H,O
3+

Mn +e == Mn’+

Pb0,+4H++2e == Pb*++ 2H,O

C1,+2e  == 2c1-

Cr,O,‘-+14H++& == 2Cr’++7H20

Mn0,+4Ht+2e  == Mn2++2H,0

0,+4H++4e  == 2H,O

210;+12H++lOe  == 1,+6H,O

+3.06

+2.85

+2.01

+1.82

+1.77

+ 1.695

+1.70 1M HClO,

+1.61 1M HNO,

+1.44 1 M H,SO,

+1.28 1M HCl

+1.63

+I.6

+1.6

+1.52

+1.51

+1.51

1.455

+1.359

+1.33

+1.09 1M  HCl

+1.23

+1.24 1M  HCIO,

+1.229

+1.195

627



n?d~ti-im E” (volts) E”’ (volts) &dwhi~~  E”

Br,(*+2e == 2Br-

Br2(  1)+2e  ==2Br-

21Clze+2e  == 4+4Cl

HNO,+H++e  =I NO + l-$0

N0;+4H’+3e = NO+2H,O

NO,-+3H’+2e  == HNO,+I$O

NO,+lOH++8e  == NH:+330

2Hg2++2e  ==  Hg,‘+

cu*++I-+e  == GUI

Ag’+e  == Ag

Hg,*++2e  ==  2Hg
3+

Fe +e  == Fe
2+

02+2H++2e  == 1$02

I&q)  +2e  == 21.

MnO,‘+e  == Mn0,2e

H,As?,+2Ht+2e == H,AsO,+%O

(I, j+2e  == 3i

4+2e  ==  21-

cu++e  == cu

H2S0,+4H++4e  ==S+3H,O

Ag,CrO,+Ze  ==  2Ag+CrO,‘-

2H2S0,+2H++4e  == S,O,*-+3%0

+I  ,087’

+1.065”

+1.06

+I.00

+0.96

+0.94

+0.87

+0.920

+0.86

+a7994

+0.789

+0.771

+0.732 1M  HClO,

+0.700 1M  HCI

+0.674 1M  H$O,

+0.46 2M HP%

+0.682

+0.6197b

+0.564

+0.559

+0.577 1M HCI,  IM HCIO,

+0.536

+0.5355b

+0.521

+0.45

+0.446

+0.40



3.
[F&N&]  + e == [Fe(CN)$

cuz++2e  == cu +0.337

Hg,C1,+2e == 2Hg  + 2Ci +0.2680

AgCl + e == Ag+Cl

SO,‘- + 4H+  + 2e == H,SO,  + 2H,O

cu2+  + e == cu+

S + 2H+  +2e == H,S

sn4+ + 2e == sn2+

AgBr+e ==  Ag+Br-

[SnClJ*- + 2e ==[SnC1,]2-+2C1‘

S,0c2‘+2e == 2S,0j2‘
3.

[Ag(S,O,),l  +e  == Ag +2S,O,‘-

2H++2e  == H,

Pb2++2e  == Pb

sn2++2e  == Sn

AgI+e ==  Ag+I-

CuI+e  == Ci+I-

N?+2e  == Ni

VZ+e  zE=  v
2+

co2++2e  == co

(Ag(CN),)].+e == Ag+ZCN-

PbSO,+Ze  ==  Pb+S0,2-

+0.356

+0.2224

+0.17

+0.153

-ho.141

+0.15

+0.095

0.08

+0.01

0.000

-0.126

-0.136

-0.151

-0.185

-0.250

-0.255

-0.277

-0.3 1

-0.356

+0.71 1M HCl

+0.3337 O.lM KC1

+0.2801 1M  KC1

+0.2412 KC1  satur.

+0.14 1M HCl



Flhl~~S”l E” (volts) E”’  (volts) I~dh16lHh1  E”’

Cd2++2e  == Cd
3+

Cr +e == 0”

Fe2++2e  == Fe
3+

Cr +3e == Cr

zn2++2e  == zn

Mn2++2e  == Mn

A?+3e == Al

Mg2+12e  == Mg

Na++e  == Na

ca2++2e  == Ca

sr2++2e  == Sr

Ba2’+2e  == Ba

K++e.  == K

Li++e == Li

2. Alkali Solutions

ClO.+H,0+2e  == C1’+20H.

0,‘.+2H,9+2e  = 40H-

Brb+HzO+2e  == Br*+2OH-

Mn0;+2H,0+3e  == MnO,+4  OH-

0,+2H,0+4e  == 4 OH-

[Ag(NH,),l+  +e  == Ag+ZNH,

CIO;+H,0+2e  == C10;+20H-

Co(OH),+e  == Co(OH),+OH-
3+

[CdNH,),l  +c  == [Co(NH&lz+

No;+H,O+Ze  == N0,+20H.*

Mn0,+2H,0+2e  == Mn(OH),+20H

[Cu(NH,),]*++2e  == Cu+4NH,

-0.403

-0.41

-0.440

-0.74

-0.763

-1.18

-1.66

-2.37

-2.71

-2.87

-2.89

-2.90

-2.92

-3.04

+0.89

+0.88

+0.76

+0.59

+0.40 1

+0.373

+0.33

+0.17

.+O.l

+o.o 1

-0.05

-0.11



f&d$ii”l E” (volts) E”’  (volts) l:ttuk~lilH~II  E”

N0,+6$0+8e  == NH,+90H-

N0;+5H,0+6e  == NH,+70H-

[Ag(CN)$+e ==  Ag+2CN‘

No,‘+H,O+e == 20H-+NO

S+2e  ==  S2-

[Pb(OH),]-+2e  ==  30H.

Fe(OH),+e  == Fe(OH),+OH-

[Cd(NH,)J*++2e  == Cd+4NH,
3.

AsO,  +H,O+2e  == AsO,‘-+20H.

HgS+2e  ==  Hg+S’-

2H,0+2e  ==  Hk+20Hm

[Sn(OH),]‘-+2e  == [Sn(OH)Js+30Hm

[Zn(NH,)J*++2e  == Z&NH,

[Cd(CN)J2+2r  == Cd+4CN-

[Cr(OH),]-+3e  == Cr+40H’

[Zn(OH)J*-+2e  == Zn+rlOH-

ZnS+Ze  ==  Zn+S2’

Mn(OH),+2e  == Mn+2OH‘

[A1(OH)4j+3e  == A1+40Hm

-0.13

-0.18

-0.31

-0.46

-0.48

-0.54

-0.56

-0.597

-0.67

-0.72

-0.828

-0.90

-0.103

-1.03

-1.2

-1.22

-1.44

-1.55

-2.35


